Air Cylinder: Standard Type
Double Acting, Single Rod

G 1 Series
020, 925, 232, 340, 850, 963, 280, 100

How to Order

] CG1BIN20] -0
Mcnmmnzon |—|1oo| Z-T 1T

-MOBW| - |

With auto swnch -
(Built-in magnet) Bore size Pivot bracket Made to Order
Mounting 0] 20mm Nil None For details, refer to page 293.
B Basic 5 25 mm N| | Fivotbacketis sipped togeter Number of auto switches
Z* |Basic (without trunnion mounting female thread) 2| 32 mm Vith the product butnot assembled Nil 2 pcs.
L Axial foot 40| 40 mm # Only for D, U, T mounting types S 1 pc.
F Rod flange * Pivot bracket is shipped together IR
G Head ﬂangge g Zg Qm with the product, but not assembled. n n_pcs.
uU* Rod trunnion 0| 80 mm Rod end bracket Auto switch
T* Head trunnion 100] 100 mm Nil None [_Nil [ without auto switch
D Clevis V| Single knuckle joint |  * For applicable auto switches,
* Not available for 680 and ¢100. Type W__ | Double knuckle joint refer to the table below.
* Mounting bracket is shipped together with [N [ Rubber bumper « No bracket is provided for the female rod end.
the product, but not assembled. . LA [ Aircushion « Rod end bracket is shipped together with the product, but not assembled.
* The cylinder for F, G, L, D mounting types is Z: # A knuckle joint pin is not provided with the single knuckle joint.
Basic (without trunnion mounting female thread). . .
Port thread type e—— —— o Suffix for cylinder (Rod boot)
Rubber bumper Air cushion dRod end thread Nil Without rod boot
J Nylon tarpaulin
Nil Rc 02010 0100 [M5X0.8 | 020,025 [ Nil [Male rod end K H yion larp i
Rc 232 to 8100 [ F_[Female rod end eat resistant tarpaulin
TN NPT 020t0 2100 || NPT* | 032to 8100 * In the case of w/rod boot, and a foot bracket or
M5 x 0.8 220, 325 G* 032 to 2100 cylind trok rod flange as a bracket, those parts are to be
TF ) ylinder stroke (mm)
G 032 t0 8100 |« Not available for 820 and 025. Refer to “Standard Strokes” on page 293. assembled at the time of shipment.

+ For female rod end, no rod boot is provided.

= Refer to “Ordering of Cylinder A y” on page 294.

Applicable Auto SWItChes/Hefer to pages 1575 to 1701 for further information on auto switches.
= Load voltage Euits Suiigh BEie Lead wire length (m)
Type Special Electrical g Wiring Applicable bore size Pre-wired |  Applicable
s function entry | 8| (Output) DC AC 220 to 663 80,2100 | 0.5 | 1| 3 | 5 |None|connector load
2 Perpendicular In-line In-line (Nil) [(M)[ (L) [(Z) [(N)
) MINV M9N = ® @@/ O|—| O
. sv.i2v WMOPV_|__Wop e Teleol=1 oo
) — — circui
- Grommet 3-wire (PNP) — — G5P e — e O 6
= M9BV M9B = ®|®/®/O|—| O
£ 2-wire 12V — — K59 ® —|®O0|—| O —
H Connector — H7C — o —0o/0/0 —
° ) MINWV MONW = ®|®/®/O|—| O
E] W il U IS = = G59W | @ [—|®|O(—| O | IC |Relay,
2 | Diagnostic indication ° 3-wire (PNP) ' MOPWV | M9PW = ® (®0/@[O[—| O circuit| PLC
% (2-color indicator) — — G5PW ® | —|®@/O0|—| O
] >-wire 12V MOBWV M9BW — ® |®/®/O|—| O _
° Grommet = = K59W ® —|®O0|—| O
@ 3-wire (NPN) 5V 12V MONAV*! | MONA*! — O|@|O|—] O IC
Water resistant 3-wire (PNP) ' M9PAV*! | M9PA*! — O|0|@|O|— @] circuit
2-color indicator . gl il —
(@c cator) omuire 12v M9BAV<T | M9BA — oo :: 8 = 8 _
[ ) 4-wire (NPN) 5V,12V H7NF G59F ® —|® O|—| O |lCcircui
= v 3-vire (Equiv. O NPN)|  — 5V — A‘GV A = o —| 0 — — |[ICcircuit| —
S | 100 V A93V*#2 A — D oo — —
H Grommet [No| 100Vorless| A90V A = ® |—(®|—|—| — |(Ccircuit
o _ Yes| 100V, 200V = B54 o — 00— —
‘é No|  2-wire 24v | 12V [200Vorless = B64 ) | — (@ |—|—| — — H:II_?"
3 Connector] ) — — C73C = ) —|eje[0| —
K] No 24V orless = C80C = D | — (@ ®(®| — |(Ccircuit
Diagnostc ndalion (2<olorindealn) | Grommet | Yes| — — — B59W ) — @ —|— —

1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

A water-resistant type cylinder is recommended for use in an environment which requires water resistance. However, please contact SMC for water-resistant cylinder of 220 and 25.
*2 1 m type lead wire is only applicable to D-A93.
* Lead wire length symbols: 0.5 m-- Nil (Example) MONW

5m- - Z (Example) MONWZ

= Solid state auto switches marked with “O” are

im
3m

M (Example) MONWM
L (Example) MONWL

Non

- N (Example) H7CN produced upon receipt of order.

* Since there are other applicable auto switches than listed above, refer to page 361 for details.
* For details about auto switches with pre-wired connector, refer to pages 1648 and 1649,
* The D-A9000)/M90IOIC] auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

292



CG1 series

Construction

With rubber bumper @80, 2100

MRER
|

Long stroke

w

Long stroke
1001 to 1500

With air cushion

11/

OS]

Long stroke
Component Parts

No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy Hard anodized 15 | Cushion seal A Urethane 232 or larger is
2 | Tube cover Aluminum alloy Hard anodized 16 | Cushion seal B Urethane common.
3 | Piston Aluminum alloy 17 | Head cover Aluminum alloy Hard anodized
4 | Piston rod Stainless steel | For 920 or 025 with built-in magqet 18 | Cylinder tube Aluminum alloy Hard anodized
Carbon steel® Hard chrome plating* 19 | Rod seal NBR
5 | Bushing Bearing alloy 20 | Piston seal NBR
6 p Resin 232 or larger is 21 | Tube gasket NBR
7 p! Resin common. 22 | Valve seal NBR
8 | Retaining ring Stainless steel Except @80 and 100
9 | Wear ring Resin Replacement Parts: Seal Kit
10 | Rod end nut Carbon steel Zinc chromated Bore size (mm) Kit no. Contents
11 | Cushionring A Aluminum alloy 20 CG1N20Z-PS
12 | Cushion ring B Aluminum alloy 25 CG1N25Z-PS —
13 | Seal retainer Rolled steel Zinc chromated 32 CG1N32Z-PS Set of the nos. )
14 Cushion [o400rsmaller]  Carbon steel | Electroless nickel plating 40 CG1N40Z-PS
valve |050 orlarger Steel wire Zinc chromated Note) As sizes 850 and larger cannot be disassembled, the seal cannot be
Note) For cylinders with auto switches, the magnet is installed in the replaced.
piston. Note) Refer to the Specific Product Precautions on page 362-1 for
* The material for 820, 925 cylinders with auto switches is made of stainless Disassembly/Replacement. Order with the kit number according to
steel. the bore size.

* The seal kit includes a grease pack (10 g).
Order with the following part number when only the grease pack is
needed. Grease pack part number: GR-S-010 (10 g)

® 298



Air Cylinder: Standard Type .
Double Acting, Single Rod CG 1 Series

Basic: CG1BN

F_GA 2xP

Width across flats KA
V(Rc, NPT, G)

MM H,

2xTC

118

oD

a

N
o
!

9D,

QTJ

sEEgEREeEe

I
@ -

oE 005
o
[

= %q}
=
m

—
m

C
)
oE o0

Width across flats B1

AL
\8xd A ITA| \axTC 18| i

NA H S + Stroke F NA

ZZ + Stroke

TC thread detail
With air cushion

(Rc, NPT, G)
Cushion valve, Width across flats WH

10°_Wee WA

e =

MB1
Basic (Without trunnion mounting female thread): CG1ZN
GB CA2
Width across flats KA F GAV(ZRZPNPT S F_’ N7
! ! <
MM Hi a H ‘ CS1
[S)
of SN L T - 9
Sl s R CS2
il e u
Width across flats B1 g.‘
AL <
A K
H S + Stroke F
ZZ + Stroke
(mm)
Bore |Strokerange| Rc, NPT port G port AlaLlBilc|pl|E HIH J K lkal mm

size [Stendard] Longstke| GA| GB | P |GA[ GB [ P
20 UpthOO\ZOHMSOO 12 |10(12)] 1/8 |12 [10(12) |M5x08| 18 |15.5| 13 |14 8|12

35| 5| 26| M4x0.7depth7 | 5 6 | M8x1.25

F
) 2
25 UptoSOO‘J{JHolSOO 12 |10(12)] 1/8 | 12.5]10(125)M5x 08| 22 |19.5| 17 |16.5| 10 |14 | 2 |40 | 6| 31| M5x0.8depth7.5 | 55/ 8 |[M10x1.25
32 UptoSDD‘SﬂHMEGO 12 |10(12)] 1/8 |10.5]10(10.5) 1/8 | 22 |19.5| 17 |20 |12 |18 | 2 |40 | 6| 38| M5x0.8depth8 | 55| 10 |[M10x1.25
40 UptaSOD‘MHDIEOO 13 [10(13)] 1/8 |13 |10(10) | 1/8 | 30 |27 |19 |26 |16 |25 | 2 |50 | 8 | 47| M6 x1depth12 6 | 14 | M14x15
50 UplaiOD‘SﬂHoWSOO 14 [12(14)] 1/4 |14 [12(14) | 1/4 | 35 |32 27 |32 |20 |30 | 2 |58 | 11| 58| M8x1.25depth16 | 7 | 18 | M18x 1.5
63 UpIOEOD‘SﬂHDIEOO 14 [12(14)] 1/4 |14 [12(14) | 1/4 | 35 |32 27 |38 |20 |82 | 2 |58 |11 | 72| M10x1.5depth16| 7 | 18 | M18x1.5
80 UpIOSOD‘EﬂHMEOO 20 |16(20)| 3/8 |17.5(16(17.5) 3/8 | 40 |37 [ 32 |50 | 25|40 | 3 |71 | 13 | 89| M10x1.5depth22 |10 | 22 | M2x15
100 UptcSOO‘ 3ito1500) 20 |16 (20)| 1/2 | 17.5]16(17.5) 1/2 | 40 |37 | 41 |60 | 30 | 50 | 3 | 71 | 16 [110|M12x 1.75depth 22|10 | 26 | M26x 1.5
(mm) With Air Cushion (mm) TC Thread (mm)
Bore Bore Rc, NPT port Bore
pr NA S TA| TB zz size [GA] GB P WA| WB |W6 WH . TC TD | TE | TF | TG
20 [24 [69(77) [11 [ 11 [106(114) 20 [12 [10(12) [M5x08] 16 [15 (16) 25° [ 1.5 20 [ M5x0.38 89" 4 |05 | 55
25 |29 | 69(77) | 11 11 (111 (119) 25 |12.5[10(12.5)[M5x0.8| 16 |[14.5(16) 25° | 1.5 25 M6x0.75 | 10%%®| 5 |1 6.5
32 [355] 71(79) | 11 [10(11)[113(121) 32 [12 [10(12) | 1/8 | 16 [14 (16) 25° [ 1.5 32 | M8x1.0 | 129%] 55]1 75
40 [44 | 78(87) | 12 [10(12)[130(139) 40 [13 [10(13) | 1/8 | 17 [15 (17)/ 20°[1.5 40 [ M10x1.25 | 14%%] 6 [1.25] 85
50 |55 | 90(102) 13 |12 (13)[150 (162) 50 [14 [12(14) | 1/4 | 18 [16 (18) 20° |3 50 | M12x1.25 | 169®] 7.5[2 10
63 [69 [ 90(102) 13 [12(13)[150 (162) 63 [14 [12(14) | 1/4 |18 [17 (18] 20°[3 63 | M14x15 | 18%%[11.5]3 145 |D-]
80 [86 [108(122) — | — [182(196) 80 [20 [16(20) | 3/8 |24 [20 (24) 20° [ 4 80 — — | =1=1=
100 [106 [108 (122 — | — [182(196) 100 [20 [16(20) | 1/2 [ 24 [20 (24) 20° |4 100 = - I=T=T="|xO
Note) ( ): Denotes the dimensions for long stroke. # Cylinder sizes 80 and 2100 do not have

trunnion mounting female thread on the width |Technical
across flats NA. Data

299



